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44 44
SO2 [NO, | Cl [NH, |Na | K [ca |mg
mm/ mS/m u mol/I
(47) | 2574.9 | 4.56 | 3.22 | 37.2 | 42.2 | 52.1 | 33.2 | 39.8 | 2.5 | 18.4 | 6.5
(45) | 2282.8 | 4.97 | 3.78 | 50.8 | 49.4 | 91.0 | 109.0| 68.6 | 3.4 | 16.2 | 10.0
(44) | 1774.1 | 4.78 | 2.90 | 31.5 | 47.7 | 51.1 | 45.8 | 44.9 | 2.1 | 14.3 | 6.4
(44) | 1985.7 | 5.03 | 2.45 | 22.8 | 25.2 | 60.6 | 23.8 | 54.0 | 2.1 | 13.6 | 7.1
(180) 4.83 | 3.08 | 35.7 | 41.2 | 63.7 | 52.9 | 51.7 | 2.0 | 15.7 | 7.5
15 (232) (4.81)| (3.67) |(44.7) |(50.4) | (62.6)|(66.3)|(51.0) | (2.6) | (18.6) | (7.8)
15
16 15
Q)
4.56 5.03
16
14 4.34 6.00
0.5
5.6
54
52
50
pH 4.8
4.6
44
42 [
4.0

62 63 2 3 456 7 8 910111213 141516

—-—
—K— —— ( H13) —— ( H13)
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22.8 50.8 u mol/l

25.2 49.4 p mol/1l
51.1 91.0 u mol/l
15
@)
23.8 109.0 p mol/l
39.8 68.6 p mol/l
2.1 3.4 u mol/1
13.6 18.4 p mol/1
6.4 10.0 p mol/1
3
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( mmo1/m? )
47.0 | 45.8 | 76.6 | 45.9 | 64.1 | 2.6 |13.9 | 8.6 | 61.6
53.2 | 43.0 |157.8 | 89.0 |127.0 | 4.2 |14.9 |16.0 | 30.7
26.8 | 32.1 | 52.3 | 36.8 | 46.7 | 2.0 |85 |58 | 28.7
28.3 | 26.1 |107.4 | 28.4 | 94.3 | 2.9 |12.8 |11.5 | 24.1
38.8 | 36.7 | 98.5 | 50.0 | 83.2 | 2.9 |12.5 |10.5 | 36.3
15 (34.1) |(32.0) |(67.2) |(51.4) |(53.9) |(1.9) |(9.1) |(7.0) | (28.4)
15 15
mmol/m?
180
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140 | -
O
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16 52
nmol/m?
69.9 23.4 39.4 208.0
84.4 49.9 68.5 324.3
50.4 6.9 24.1 126.3
nmol/m?
2- - + + + 2+ 2+
4 3 4
48.8 48.5 28.3 100.7 49.2 5.8 8.1 4.1
67.4 72.3 43.5 162.0 87.0 13.0 17.6 6.9
22.2 28.2 16.4 57.6 16.2 3.2 3.6 2.1
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pH SO, | NO, | CI NH,” | Na' | K' |ca?|Mg*
mS/m g mol/I
6.45| 51.91| 480.3| 1123| 1885| 0.7| 491.4| 1994| 416.1|280.8|295.9| 6966
7.68| 155.3| 1218| 4083| 8259 3.7| 1210| 7395| 1260|747.6| 1122
5.43| 054/ 31| 66| 50| 00| 77| 44| 24| 63| 06
) 6.42| 6.19| 100.9| 123.2| 68.7| 1.3| 156.0| 107.1| 52.9| 60.7| 19.6| 690.4
4.82| 3.59| 27.5| 36.3| 69.4| 15.2| 46.4| 32.9| 19| 11.3| 55| 246.5
1.3| 14.4| 17.4| 30.9| 27.1| 0.0| 10.6| 60.6| 220.8| 24.9| 53.6| 28.3
Q) (
18
6.45 7.68 5.43 15
6.42
4.82
51.91mS/m
14
16
8.0
160 -
140 '
— 120 1 7.0
£ 165
o 100
£ g0 - 6.05
1 5.5
Q60
40 -4 5.0
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0 4.0
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